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1.19 ki
1.57 ki
1.47 ki
2.91 ki
3.30 ki
1.19><10"° /m>
1.99

3.68

1.04

1.70 ki
2.25 ki
2.10 ki
3.63 ki
4.12 ki
1.71><10"° /m>
2.84
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0.430 kI
0.832 ki
0.867 ki
1.146 ki
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0.118 /m>
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6.0 kl
17.5 kl
3.9 kl
11.4 kl
1.3 kl
3.0 kl
0.1 kil
1.1 kl
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2510 CO= 6.1 CHa Kl
2650 CO= 6.4 CHa Kl
2770 CO= 6.5 CHa Kl
2900 CO= 6.7 CHa Kl
2960 CO= 6.9 CHa Kl
3020 CO= 8.6 CHa
2790 CO= 9.2 CHa
2400 CO=
0.73 CHa
0.78 CHa
2.150 CO= = 2.99%<107° -CHa /m”
0.424 C0=  KWh
0.088 CO=
2310 CO=
2650 CO=
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2,640 Co= /
2,900 Co= /
2,600 C0= /
0.00088 CHa =
0.00043 CHa /
0.0090 CHa /
0.11 CHa /
0.0 CHa /
0.00056 CHa /
0.0 CHa /
0.0097 CHa /
0.0499 -N= 0/
0.0415 -N= 0/
0.107 -N= 0/
0.010 -N= 0/
0.0098 -N= 0/
0.17 -N= 0/
0.892 -N= 0/
0.45 -N= 0/




kWh

kWh




kI'] 0.059 -N= 0/Kl -N2 0
kI'] 0.022 -N= 0/kl -N= 0
kI'l] 0.062 -N= 0/kl -N= 0
kI'] 0.023 -N= 0/kl -N= 0
kI'l] 0.062 -N= 0/kl -N= 0
kI'] 0.023 -N= 0/kl -N= 0
kI'] 0.003 -N= 0/kl -N= 0
kI'l 0.065 -N= 0/kl -N= 0
kI'| 0.024 -N= 0/kl -N= 0
kI'] 0.003 -N= 0/kl -N= 0
kI'] 0.067 -N= 0/kl -N= 0
kI'] 0.025 -N= 0/kl -N= 0
0.083 -N= 0/ -N= 0
0.031 -N= 0/ -N= 0
0.089 -N= 0/ -N= 0
0.033 -N= 0/ -N= 0
0.014 -N= 0/ -N= 0
0.015 -N= 0/ -N= 0

= 0.074 -N= 0/ ~ -N= 0
= 0.027 -N= 0/ ~ -N= 0
-N= 0/ -N= 0

-N= 0/ -N= 0

-N= 0/ -N= 0

kWh -N=" 0/kWh -N= 0
MJ -N= 0/MJ -N= 0
-N= 0/ -N= 0

-N2 0

-N=

-N=

-N=

-N=
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